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Circle the letter of the correct answer.

_____1. A characteristic of a safe worker is someone who:

A. expects someone else to be concerned about equipment maintenance.
B. hurries to get things done so the exposure time to the hazard is reduced.
C. observes precautions.
D. is willing to push his/her capabilities in order to get the job done.


_____2. You have been working land for several hours and are done for the day. What should you do before turning the tractor off?

A. Allow the engine to idle, which cools the engine.
B. Turn the key off.
C. Run the engine at full speed for a few minutes to clean out the engine.
D. Loosen the fuel cap to allow heat to escape and reduce the risk of fire.


_____3. To prevent injuries that occur as the result of farm accidents, the best solution is to:

A. work safer around an identified hazard.
B. remove the hazard, or guard it if the hazard cannot be removed.
C. have additional training.
D. complain to a manufacturer about the equipment design.


_____4. It is recommended to drive a tractor at a moderate engine speed for the first 30 minutes. The purpose for this procedure is to:

A. allow the engine to warm up before placing it at full load.
B. give the operator time to get familiar with the tractor.
C. allow the antifreeze to circulate properly.
D. give the hydraulic fluid time to warm up before using it.


_____5. A hazard when working with a battery is:

A. It is heavy and easily dropped.
B. It could give you an electrical shock.
C. The battery solution is an acid. If it comes in contact with your skin or eyes,
it can cause chemical burns.
D. The electrolytes decrease when the battery isn’t in use.


_____6. Many injuries have occurred because:

A. the person thought he/she would be able to react faster than the machine.
B. the machine was well-maintained.
C. the operator followed a safety procedure.
D. the person’s reaction time is faster than the machine.


_____7. When pulling a wagon down the road, you want the swinging drawbar to be:

A. swinging so you can make sharp turns.
B. in a fixed position.
C. in any position. It doesn’t make a difference.
D. in the right-most position so that it is closer to road shoulder. 


_____8. Which of these would be a factor in the loss of stability of a tractor?

A. Wheel spacing set as wide as possible for the work being done.
B. Keeping the speed of the tractor low.
C. Adding more weight to a tractor to balance the effects of a mounted implement.
D. Raising the loader bucket to a high position so the operator can see under.


_____9. An operator’s reaction time or time until tractor reaches the critical point of no return in a rear overturn is about:

A. 3/4 second.
B. 5 seconds.
C. 3 seconds.
D. 1 1/2 seconds.


_____10. It is safe to remove shields and guards when:

A. putting the machine in storage until the next use.
B. the machine keeps getting plugged and it saves time.
C. servicing the machine and it is shut off.
D. the operator has many years of experience in working with the machine.


_____11. The oil level on a tractor should be checked:

A. daily.
B. when the oil filter is one year old.
C. when the oil pressure indicator light comes on.
D. at the beginning of the planting season.


_____12. A rule to follow when stopping to park and leave a tractor is:

A. set the tractor in gear.
B. leave the key in the ignition switch so the next person knows where to find the key.
C. place hydraulic equipment in a down position.
D. park at the top of a hill in case the starter doesn’t work and the tractor would need to be
push started.


_____13. Which of these is an acceptable location to hitch a load to the tractor?

A. To the drawbar.
B. Above the drawbar hitch for added traction.
C. At any point on the three-point hitch.
D. To the left or right rear axle.


_____14. A concern with running a tractor in a closed building is:

A. you could forget and back through the door.
B. the engine will overheat quickly.
C. you might damage your hearing.
D. the exhaust gases could kill you.


_____15. A major factor in tractor - motor vehicle accidents on public roads is:

A. compact cars are too small to be seen by tractor operators.
B. the shoulders of the road are too narrow for the tractor to drive on.
C. the difference in speed between tractors and motor vehicles.
D. brake pedals are not locked together so uneven braking causes the tractor to stop slower.


_____16. Before making a turn when operating on a public road, you must:

A. pull totally off unto the shoulder of the road and check the traffic behind you.
B. signal your intent to turn with hand and arm or signal devices.
C. come to a complete stop.
D. do nothing as implements of husbandry have the right of way over motor vehicles.


_____17. Personal protective equipment:

A. reduces the risk of personal injury and exposure to environmental hazards.
B. prevents all accidents.
C. is only needed when working with chemicals.
D. keeps your work clothes from getting dirty.


_____18. Which of these is a danger of having young children around farm machinery?

A. The child could distract the operator and cause an accident.
B. The child could climb on the machine and fall off.
C. The operator may not know the child is present and could start or move the machine.
D. All of the above.


_____19. The shield on the PTO shaft of the implement that you are instructed to use is off, but you know where it is in the shop. You should:

A. talk to your adult supervisor and tell him/her the shield needs to be put on before you
do the job.
B. wrap electrical tape around the shaft so it is a smoother surface and less likely to catch
things.
C. go and get the shield and take it along, in case something happens.
D. go ahead and do the assigned job.


_____20. Before leaving the operator’s platform to perform any type of adjustment on a machine you should:

A. turn the engine off.
B. check the instrument panel for any other problems.
C. leave the tractor idling at the lowest engine speed possible.
D. lock brakes together.


_____21. The best protection against hearing loss from exposure to machine use is:

A. listening to music from a CD player with headphones.
B. adding an extra muffler to the machine.
C. plugging ears with cotton balls.
D. wearing approved hearing protection.


_____22. The safest way for a tractor to go up a steep incline without a load is:

A. backwards.
B. forwards.
C. driving forwards up the slope at a gradual angle to the top.
D. driving straight up the slope.


_____23. The danger of bypass starting a tractor is:

A. the starter switch could be damaged.
B. the tractor could start in gear and you could be run over.
C. you could receive an electrical shock.
D. you cannot adjust the choke.


_____24. Proper dress for working around power take off equipment includes:

A. oversize work clothes that will pull off if caught in a PTO.
B. shoes with long shoe strings to wrap around pant bottoms.
C. snug fitting jeans or work pants.
D. shorts with frayed hem.

_____25. If an operator is wearing a seatbelt on a tractor equipped with a ROPS, he/she will:

A. be able to turn sharper when operating on side hills.
B. be held in the operator’s station and provided maximum protection by the ROPS
in an overturn.
C. be at greater risk because he/she can’t jump off in case of an overturn.
D. be more comfortable and prevent back injury.


_____26. Agricultural equipment has safety signs to alert operators to risk of personal injury in normal operation and servicing. As you are servicing a machine you notice a red and white sign. This sign means:

A. notice.
B. caution.
C. warning.
D. danger.


_____27. Some tractor PTO shafts have six splines (teeth) on the shaft, and some have 21. Why are they different?

A. The six-splined shaft is for 540 rpm machines, and the 21-splined shaft is for 1000 rpm
machines.
B. The six-splined shaft is for 1000 rpm machines, and the 21-splined shaft is for 540 rpm
machines.
C. American tractors have a six-splined shaft, and European tractors have a 21-splined shaft.
D. European tractors have a six-splined shaft, and American tractors have a 21-splined shaft.


_____28. The best source of information regarding the operation and maintenance of tractors or other farm machinery is:

A. the operator’s manual.
B. decals on the tractor or machinery.
C. a book on engine maintenance.
D. the Internet.


_____29. A locking device can be used to lock the brake pedals together on a two-wheel drive tractor. The brakes should be locked together:

A. every time the tractor is pulling a load.
B. to prevent side overturns when going up a hill.
C. for safe braking at road speed.
D. when making a right-hand turn in a muddy field.


_____30. Toxic gases can be found in which of these confined spaces?

A. grain bin
B. manure pit
C. milking parlor
D. feed bin


_____31. You notice that the tractor's tires have excessive wear on the side of tire tread. This wear indicates the tires are:

A. correctly inflated.
B. over-inflated..
C. under-inflated.
D. pulling too much load.


_____32. Daily maintenance and safety checks are preventive maintenance. Which of these is not a daily maintenance check?

A. tire pressure
B. hitch
C. fuel supply
D. crankcase oil level


_____33. Your friend asks you for a ride on the tractor. You tell your friend:

A. that it is not safe to have an extra rider because the tractor only has one seat with seatbelt.
B. to stand on the hitch and hold onto the tractor seat.
C. we’ll take the tractor with a cab since it is enclosed.
D. only this one time because no adults are around.

_____34. When working under mounted equipment you should:

A. check that the hydraulic valve is in good condition before starting to work.
B. have someone on the operator's seat in case the equipment starts to fall.
C. block or support the equipment or use locks provided by the equipment manufacturer.
D. have the hydraulic controls locked.


_____35. Three-point hitches are available in how many different categories (sizes)?

A. 5
B. 4
C. 3
D. 2


_____36. Wisconsin laws require that implements of husbandry or farm machinery on public roads have an SMV emblem when traveling under what speed?

A. 30 mph
B. 25 mph
C. 20 mph
D. 15 mph


_____37. When working in dusty environments, you should protect yourself by:

A. opening windows and doors for a day before working in that area.
B. working for only 15 minutes of time before going out for fresh air.
C. wearing a proper fitting and appropriate type of respirator.
D. wearing nose plugs.


_____38. An implement tongue should be secured to the drawbar with which of these?

A. A pin without a locking device.
B. A bolt.
C. A safety chain.
D. A pin with locking device.

_____39. You have properly mounted the tractor and have adjusted the operator’s seat and have the seatbelt fastened. The next step in starting the tractor is to:

A. turn the key switch to the on position.
B. check that the controls are in neutral or park.
C. open the throttle up all the way.
D. check the indicator gages and lights.


_____40. Rollover protective structures or ROPS are designed to:

A. allow for an enclosed area so extra riders can be carried safely.
B. provide comfort and reduce noise for the operator.
C. resist collapse and keep the operator from being crushed in a rollover.

D. make the tractor more stable.


_____41. Which of these is an example of a man-made hazard?

A. Installing safety shields on implements.
B. Allowing untrained individuals to operate tractors and equipment.
C. Storing gasoline in approved containers.
D. Using a safety hitch pin when pulling loads.


_____42. Every tractor or self-propelled implement should be equipped with this safety device?

A. An insulated bottle containing water.
B. A first aid kit.
C. A pair of insulated gloves.
D. A fire extinguisher.


_____43. Which of these universal symbols for operator controls is the symbol for reverse on the transmission shift pattern?

	A. 
	R 

	B. 
	

	C. 
	

	D. 
	


_____44. When approaching an intersection with a stop sign while driving a tractor pulling a loaded gravity wagon, you should:

A. slow down and if the intersection is clear, safely proceed through the intersection.
B. look both ways and speed up to get through the intersection faster.
C. come to a complete stop, scan the intersection, and proceed when clear.
D. keep traveling at the rate that you are because you have the right of way.


_____45. Which of these is a cause of farm machinery accidents?

A. Having worked for a long time that day.
B. Taking too much time to do the job right.
C. A cautious attitude toward safety.
D. Keeping equipment in good repair.


_____46. Safe machine operation depends on three factors. One of these factors is:

A. type of crop being grown.
B. the operator’s experience with the machine.
C. type of fuel used.
D. the time that the machine is used during a growing season.


_____47. Which instrument provides information on PTO speed and hours of engine operation?

A. ammeter
B. odometer
C. speedometer
D. tachometer


_____48. More fatal farm injuries involve than anything else.

A. machinery
B. beef or dairy cattle
C. falls from ladders
D. tractors
_____49. The operator’s platform is referred to as the “nerve center” of the tractor. Which of these items is included on the instrument panel?

A. oil pressure indicator
B. slow-moving vehicle emblem
C. forward facing reflectors
D. odometer
_____50. Farm chemicals such as herbicides and insecticides should be stored:

A. in the machine shed.
B. in a special building designed for chemical storage.
C. in the barn by the feed storage.
D. in the basement of the house to keep them dry.

